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RCJ Rescue Simulation

1. The competition will consist of multiple rounds of which the worst one will be omitted from the
final score. The worst round is defined by the lowest normalized field score of the team.

2. The field score for every round will be normalized with the score of the best team of that round:

(NORMALIZED FIELD SCORE) = (FIELD SCORE) / (BEST FIELD SCORE)

3. The normalized field scores will be used to calculate the mean. The worst round will not be
considered here:

(MEAN OF NORMALIZED FIELD SCORES) = (SUM OF NORMALIZED FIELD SCORES
EXCLUDING OMITTED ROUND) / (NUMBER OF ROUNDS - 1)

4. The normalized technical score is made up of a sum of normalized scores for the individual
technical parts as follows:

(NORMALIZED TECHNICAL SCORE) = 0.4 x (TDP SCORE) / (BEST TDP SCORE)

+ 0.4 x (TECHNICAL INTERVIEW) / (BEST TECHNICAL INTERVIEW SCORE)

+ 0.2 x (POSTER SCORE) / (BEST POSTER SCORE)

5. The Rubrics for TDP and Poster will be available on the Iran Open website.

6. The score from the Technical Challenge will be normalized with the score of the best team:

(NORMALIZED TECHNICAL CHALLENGE SCORE) = (TECHNICAL CHALLENGE SCORE) /
(BEST TECHNICAL CHALLENGE SCORE)




7. The final score is made up of a weighted sum of normalized scores from the Field Score, the
Technical Score, and the Technical Challenge as such:

(TOTAL SCORE) = 0.7 x (MEAN OF NORMALIZED FIELD SCORES)

+ 0.2 x (NORMALIZED TECHNICAL SCORE)

+0.1 x (NORMALIZED TECHNICAL CHALLENGE SCORE)

8. Ties in scoring will be resolved based on the mean of normalized field scores.



IranOpen RCJ Rescue Simulation Technical Committee
ctine s (1404 () O ) o2 kikal 0 gad 5 LA

GIgal GAia Ra0aa) Sl dgad

)Ad\)ﬁﬁ\)&ﬁ)ﬁ#_ﬁ&\}idhﬁﬁﬁdLAAJ\Jj\T):\A\O:\i_'\QAJ\ﬁ\)dﬂ)ﬁﬁgﬁdﬁ&\}iﬁ\)mﬁ?&m@m Nl
5 o iy 3 o O i) G 02 33VLe i Skl (RS b

12 38 A i el o2 33WLa i ) geam s a5 3 s il 2

(0 8 oad 53¥a i Sldlal) = () o Jlial) /() Sl c VL)

i i 8 Hlat 50 5 (sl 1) i 25 ) sA dsulae il end 33V i il el Guld el el o&ibe 3
ST

(sl 2y dlaad /(o coda i) Ja dnladi) joad 3¥la i jlial gean) = (L)) el 3Vl i &l il ol
1) = (o35 D18

R o O ) 7 i Aa B U 8 0ad 3iLe 53 ol el @ gana Sl ol Ve 5 G seadn (8 (B Olel 4

(0.4 = (% e oad 5V SLal x (88 G318 Jufial VL) / (38 L2018 SLial)
+ 0.4 X (o 4nboan Sl VL) / (2 4nbias L))

+0.2 X (g el c yVL) /(e sy Slikal)

50380 53 (e Fed 3 i) Ol ol ey Culs 3 S gy 5 38 )R slagiag (A el 5 (b)) e sad (leinl ) 5

1 ) 63 dsnlae 028 HVLe i ) pea 4 (8 Gl Dl 6

(o8 il Sl 0 9L / (o5 il Je) = (8 iy o35 300 5 S

13 3018 daulae )y dy 500 U 3 il 5 8 (B il Sl (oK st ) e el 7



(0.7 = (e Sl x (il end 33l yi <l il (80a)
+0.2 X (28 Gidaead 3Vl L)

+ 0.1 x (2 Gilla o2l 3¥La i liial)

51 el Lol Sl (e Gl 45 el el 2 ssliCypm 0 8

O O s 59l Qa1 jS0aa) Slw A B 3 s



